<

CAMO2ZZI

Automation

NPM F0 NPR Z %] 58 %5 22 5th 3 4F

EZICH > NPM AN NPR R EE M4

NPM $1 NPR % 51|58 55 4% ' 32 #F

FREGARE > 11.0

HEZPTERT IS ERRAMENINEG &
E IR M3, M5, 61/8, G1/4, G1/2

ZMKES Z75mm

NPM 1 NPR RIEEEPTIF, £R
SMAZT . BTAZRETNAZ SR
Z BRI ERE, o] AN TS TR A RA
B, ATHEZPTABENER, &2
BRIEERGH, THEHTERNES, 5
TEREWREMHTAHEERN, SIEERM,
FAE BT X E SR TH.

RZA:

-ME () BRTEFESEERN
I (A EER)
-WENENSRN T (BIEER)
HEARENIM.

>R EEEREEE, BARMNEN
BT BEM, ARAH

EI4EENES

> SMERKETIE, HERF
ARz A

> AEMRERE (EES5HE
ERTERERERER)

FESH

KA -HSRENE. SEENERYESEEAR

3/4.10.01
597

AABREAX = RBGHNF, MEXE, BRBTEHN
A RAT IS, FikEdETLuEES
BAFRMEERFTERLATMNEER



FREEHA > 11.0
NPM F1 NPR RIMEZHZH RS

NPM - FM

EZ T > NPMF0 NPR R 5B EE 24T

NPM =%
NPM = 345640 % AT
NPR = SESEA X AT - BileE

FM 2®
FM = G1 24 / G2 SMELL
FF=G1 fIR%r/ G2 WIRLX

ERIRA
1/4 M3 = M3
M5 = M5
1/8=61/8
1/4=G1/4

75 FHRE
05=5mm
10=10mm
15=15mm
20 =20 mm
25=25mm
50=50mm
75=75mm

ANFREX - RBHENF], MEEE, BRBTEHN
FAEE@BTILGE, FitEETWREHEE
BAFRMHEEFHTERANTMEEN

341002

598

<

CAMOZZI

Automation

A

5

E5

NPM %0 NPR ZK %It &5



¢«

CAMOZZI  gizijifh > NPMFINPR RIS SEE MR AT FREaHE> 110
Automation
BARSHR
B EENIME (N/mm) EERES (N) TREPRAEES (N) IHEPKE (mm) BAFEFHEET (N RAKFHEHE (N) RE (9)
NPM-FF-M3-05 0.596 1.49 2.98 5 550 47 9
NPM-FF-M5-05 0.508 3.3 4.57 5 1500 132 16
NPM-FF-M5-10 0.323 2.75 4.36 10 1500 97 19
NPM-FF-M5-20 0.209 1.78 3.87 20 1500 63 25
e NPM-FM-1/8-15 0.221 3.53 5.19 15 3700 385 80
N NPM-FM-1/8-25 0.143 3.57 5.36 25 3700 283 90
g NPM-FM-1/8-50 0.097 2.92 5.34 50 3700 173 110
m\% NPM-FM-1/4-25 0.711 6.47 15.36 25 2400 747 145
EJ;H% NPM-FM-1/4-50 0.452 1.4 2.7/ 50 2400 466 175
:E}F\ NPM-FM-1/4-75 0.262 5.38 15.2 75 2400 340 190
= NPR-FF-M3-05 0.596 1.49 2.98 5 550 47 9
@ NPR-FF-M5-05 0.508 3.30 4.57 5 1500 132 16
DC\ NPR-FF-M5-10 0.323 2.75 4.36 10 1500 97 19
% NPR-FF-M5-20 0.209 1.78 3.87 20 1500 63 25
T NPR-FM-1/8-15 0.221 3.53 5.19 15 3700 385 80
e NPR-FM-1/8-50 0.097 2.92 5.34 50 3700 173 110
E NPR-FM-1/4-25 0.711 6.47 15.36 25 2400 747 144
= NPR-FM-1/4-75 0.262 5.38 15.20 75 2400 340 202
3/4.10.03 FATVRBHF SAANRT, MEXE, BABTEA

A RAT IS, FikEdETLuEES
599 BAFRMEERFTERLATMNEER



=R EHEA > 11.0

| NPM, NPRRFUIBEE AT (PR - PIBLD)

EZ T > NPMF0 NPR R 5B EE 24T

NP, ..-FF...
G3
G1
o
‘ -
|
R
M)
| o
~N ‘:\
o
(&)
-
G2
R~t&
e 61 62 63 H 161 162 163  Swil z
NPM-FF-M3-05 M3F  M3F  M6X0.75 335 3.8 6 10 10 5
NPM-FF-M5-05 MSF  MSF 61/8 412 55 62 15 14 5
NPM-FF-M5-10 MSF  MSF 61/8 472 55 62 15 14 10
NPM-FF-M5-20 MSF  MSF G1/8 592 55 6.2 15 14 20
NPR-FF-M3-05 M3F  M3F  M6X0.75 335 3.8 6 10 10 5
NPR-FF-M5-05 MSF  MSF G1/8 412 55 62 15 14 5
NPR-FF-M5-10 MSF  MSF 61/8 472 55 62 15 14 10
NPR-FF-M5-20 MSF  MSF 61/8 592 55 6.2 15 14 20
I NPM, NPR ZRFMEFE P (HIELL - SMELL)
-FM. .
o
5
3
(&)
3
SW1
~N
L &
o~
<
-
R~t& G2
ile= Gl G2 G3 H LG1 LG2 LG3 SwW1i V4
NPM-FM-1/8-15 G1/8 G1/8 M M16X1 80 8 6.5 30 22 15
NPM-FM-1/8-25 G1/8 G1l/8 M M16X1 93 8 6.5 30 22 25
NPM-FM-1/8-50 G1/8 G1/8 M M16X1 124 8 6.5 30 22 50
NPM-FM-1/4-25 G1/8 Gl/4M M20X1.5 95 13 8.5 40 24 25
NPM-FM-1/4-50 G1/8 Gl/4M M20X1.5 124.5 13 8.5 40 24 50
NPM-FM-1/4-75 G1/8 Gl/4M M20X1.5 154 13 8.5 40 24 75
NPR-FM-1/8-15 G1/8 G1/8 M M16X1 80 8 6.5 30 22 15
NPR-FM-1/8-50 G1/8 Gl/8M M16X1 124 8 6.5 30 22 50
NPR-FM-1/4-25 G1/8 Gl/4M M20X1.5 95 13 8.5 40 24 25
NPR-FM-1/4-75 G1/8 Gl/4M M20X1.5 154 13 8.5 40 24 75

ANFREX - RBHENF], MEEE, BRBTEHN
FAEE@BTILGE, FitEETWREHEE
BAFRMHEEFHTERANTMEEN

3/4.10.04

600

<

CAMOZZI

Automation

AT

/

NPM %0 NPR ZK %It & 42





